3.MD.C.6: Measure areas by counting unit squares.

For each pair below, find the perimeter and the area. Circle the figure that has the greater area.

1.

Figure A: Area Perimeter

Figure B: Area Perimeter

Figure C: Area Perimeter

Figure D: Area Perimeter

3.
Figure E and F have the same
perimeter. Which figure has the
greater area?

Answer:

4. A birthday card is 4 inches wide and 7 inches long. The answer is 22 inches.
What is the question?

Answer:
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Answer Key

3.MD.C.6: Measure areas by counting unit squares.

For each pair below, find the perimeter and the area. Circle the figure that has the greater area.

1.

Figure A: Area 10 sg. units Perimeter 14 units

Figure B: Area 8 sQ. units Perimeter 18 units

Figure C: Area 25 sQ. units Perimeter 20 units

Figure D: Area 16 sg. units Perimeter 16 units

3.
Figure E and F have the same
perimeter. Which figure has the
greater area?

Answer: Figure E

4. A birthday card is 4 inches wide and 7 inches long. The answer is 22 inches. “Happy
What is the question? Birthday

Answer: If a birthday card is 4 inches wide and 7 inches long, what is

(R )
the perimeter of the birthday card? ﬂl’
p y Pre—et
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